RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL (Urging CDC Director Dr. Thomas R. Frieden to Execute the Draft CDC Tribal Consultation Policy)

RESOLUTION NO. 12-436

1	WHEREAS, the Legislative Council is vested with the authority to "consult with the Congress of th
2	United States and appropriate federal agencies regarding federal activities that affect
3	the Tohono O'odham Nation" and "to promote, protect and provide for publi
4	health, peace, morals, education and general welfare of the Tohono O'odham Natio
5	and its members" (Constitution, Article VI, Section 1(j) and Section 1(c)(2)); and
6	WHEREAS, on November 6, 2000, President William J. Clinton issued Executive Order 1317
7	requiring consultation and coordination with tribal nations when formulating o
8	implementing policies that have tribal implications; and
9	WHEREAS, on November 5, 2009, President Barack H. Obama issued a Memorandum on Triba
10	Consultation reaffirming Executive Order 13175 and directing each agency head to
11	submit a detailed plan of actions the agency would take to implement the policies and
12	directives of Executive Order 13175; and
13	WHEREAS, on December 14, 2010, the U.S. Department of Health and Human Services finalized
14	and executed its "Tribal Consultation Policy," which provides that an Indian tribe ma
15	initiate consultation and meet one-on-one with a HHS Division head or designated
16	representative to consult on issues specific to that Indian tribe; and
17	WHEREAS, the Centers for Disease Control and Prevention, a division of the U.S. Department of
18	Health and Human Services, drafted a Tribal Consultation Policy, which was
19	developed in coordination with the CDC's Tribal Advisory Committee; and
20	WHEREAS, after initial approval of the draft Tribal Consultation Policy by the CDC's Tribal
21	Advisory Committee, some internal issues arose; and
22	WHEREAS, it is in the best interest of the Nation's members for the CDC to enact the draft Tribal
23	Consultation Policy.
24	NOW, THEREFORE, BE IT RESOLVED by the Tohono O'odham Legislative Council that it urges CDC
25	Director Dr. Thomas R. Frieden to execute the draft CDC Tribal Consultation Policy,
26	which was developed in coordination with the CDC's Tribal Advisory Council.
27	BE IT FINALLY RESOLVED by the Tohono O'odham Legislative Council that it requests a direct
28	consultation with CDC Director Dr. Thomas R. Frieden pursuant to the U.S.
29	Department of Health and Human Services Tribal Consultation Policy to discuss this
30	resolution.
31	

	RESOLUTION NO. <u>12-436</u>						
	(Urging CDC Director Dr. Thomas R. Frieden to Execute the Draft CDC Tribal Consultation Policy)						
	Page 2 of 3						
1	The foregoing Resolution was passed by the Tohono O'odham Legislative Council on the 05 TH Day						
2	of NOVEMBER, 2012 at a meeting at which a quorum was present with a vote of 2,780.60 FOR; -0-						
3	AGAINST; -0-NOT VOTING; and [04] ABSENT, pursuant to the powers vested in the Council by Article						
4	VI, Section 1 (j)and(c)(2) of the Constitution of the Tohono O'odham Nation, adopted by the Tohono						
5	O'odham Nation on January 18, 1986; and approved by the Acting Deputy Assistant Secretary -						
6	Indian Affairs (Operations) on March 6, 1986, pursuant to Section 16 of the Act of June 18, 1934 (48						
7	Stat. 984).						
8	TAHONO Q'ORHAM LEGISLATIVE COUNCIL						
9	Manuellt In -10 -						
10	VIVMOVAL XI +7100						
11	/ Imary 1 ger						
12	/Timothy Joahuin, Legislative Chairman						
13	le day of Mulmher, 2012						
14	<u>day of / vacular</u> , 2012						
15 16	· ·						
16 17	ATTECT.						
18	ATTEST:						
19	1 UNA 11/1/2						
20	Evenne Wilson Levisletin C						
21	Evonne Wilson, Legislative Secretary						
22	$\frac{1}{2}$ day of $\mathcal{I}(\mathcal{M}_n)$. 2012.						
23							
24	Said Resolution was submitted for anytheral to the second state of						
25	Said Resolution was submitted for approval to the office of the Chairman of the Tohono O'odham Nation on the						
26							
27	pursuant to the provisions of Section 5 of Article VII of the Constitution and will become effective						
28	upon his approval or upon his failure to either approve or disapprove it within 48 hours of submittal.						
	Suomital.						
29							
30	тонопоо орнам legislative council						
31							
32	\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\						
33	1 Mally XII I Vec						
34	Jimothy Joaquin, Legislative Chairman						
35							
36	j						
37							
38							
39	[X] APPROVED on the 16 day of North, 2012						
40							
41	[] DISAPPROVED at <u>/ '60</u> o'clock, 1.M.						
42	at 1.00 o'clock, 1.M.						
43	$\sum_{i} A_i A_i A_i A_i A_i A_i A_i A_i A_i A_i$						
44							
45	NED NORKIS, JR., CHAIRMAN						
46	TOHONO O'ODHAM NATION						
47							
48							
49							

	RESOLUTION NO. <u>12-436</u>
	(Urging CDC Director Dr. Thomas R. Frieden to Execute the Draft CDC Tribal Consultation Policy) Page 3 of 3
1	Returned to the Legislative Secretary on the day of
2 3	MMMM, 2012, at 1:34 o'clock, p.M.
4 5	
5 6	Cerannellalin
7	Evonne Wilson, Legislative Secretary
8	
9	
10	
11 12	
13	
14	
15	
16	
17 18	
19	
20	
21	
22	
23 24	
25	
26	
27	
28	
29 30	
31	
32	
33	
34	
35 36	
37	
38	
39	
40	
41 42	
42	
44	
45	
46	
47	
48 49	
49 50	

ACTION: URGING CDC DIRECTOR DR. THOMAS R. FRIEDEN TO EXECUTE THE DRAFT CDC TRIBAL CONSULTATION

POLICY

MOVED: COUNCILWOMAN SANDRA ORTEGA

SECOND: COUNCILWOMAN GRACE MANUEL

DATE: NOVEMBER 05, 2012

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
BABOQUIVARI 342.0	1. FRANCES MIGUEL (Roberta Harvey)	171.0	x			
542.0	2. FRANCES G. ANTONE (Vernon Smith)	171.0	X			
CHUKUT KUK 302.2	1. ETHEL GARCIA (Sara Mae Williams)	151.10	x			Х
302,2	2. BILLMAN LOPEZ ()	151.10	X			
GU ACHI 244.9	1. TIMOTHY L. JOAQUIN	122.45	х			- •
244.9	2. CYNTHIA E. MANUEL (Louis L. Johnson)	122.45	x			
GU VO 226.7	1. GRACE MANUEL (Floyd Flores)	113.35	X			
220.7	2. PAMELA ANGHILL (Roselda Lewis)	113.35	X		1	
HICKIWAN 186.3	LOUIS R. LOPEZ (Michelle Ortega)	93.15	X			X
160.3	2. SANDRA ORTEGA	93.15	Х			
PISINEMO	1. CHESTER ANTONE (Tony Murrietta)	100.35	X			
200.7	2. EDWARD MANUEL (Gerald Fayuant)	100.35	x		;	
SAN LUCY 204.6	1. LORRAINE EILER	102.30	X			
204.0	2. JANA MONTANA (Gloria Ramirez)	102.30	x			
SAN XAVIER	1. HILARION CAMPUS (Racheal Vilson-Stoner)	107.90	х			
215.8	2. OLIVIA VILLEGAS-LISTON (Eugene Enis)	107.90	x		Ì	X
SCHUK TOAK	1. FRANCES B. STEPHENS (Absent) (Anthony J. Rios)(Present)	84.90	х		-	
169.8	2. FREDÉRICK JÓSE (Phyllis Cachora)	84.90	X			
SELLS	1. ARTHUR WILSON (Kimberly Mull)	237.85	х			
475.7	2. EVELYN B. JUAN MANUEL	237.85	X			
SIF OIDAK	1. NICHOLAS JOSE	105.95	х			X
211.9	2. MARY LOPEZ	105.95	$\begin{bmatrix} & & & & & & & & & & & & & & & & & & &$			
	TOTAL	2,780.60	2,780.60	-0-	-0-	[04]